PROB, 15176

- w“ E 3 FD/A - O ¢ LA
o4 -0.2309 0
=] 0-(WN-0250)12 ~ [0~ (i)Yo 1)}
GP = ((/).li"OCfL\),T ot (0:‘/(/&0 ]{A &
\?p/rsn = (’JP[“’) {/I\
(01309 % ) &+ (04 W ) ,j - ( (.m)i r ( U;Up)f

356500




(RoB. (5176 cooT.
-pkecon : 0.4 (60) = Upgp = 24 %

— . (¢ I/‘)nh
o
Vi = (4)§ 5 F@
Qy = Qs t Qojpr t e

&

Uy = %112 X a’/ﬂ - {")&; FDVB 7“’(6)7”@"23&7)";
Oy = (§30)f &
5{) - Aﬂiz’x FD/A e ("): \T\;/A

A D o & i
a ¥ x (o = O 0 oa

OM ~92309 0
=J0- (Xa(-02309) ]2 - [0 - (da Y 0:) ]

- (0.130‘{@)2‘ + (Oi‘rvlﬁf 1t

AL} T == (6 1(0)% + Comso9) { |

= ()t (530) 7 5

@D = (02309 - 144) | r(4dat§302) § %

ab/gp = (0(1)61)) -~/A ‘ Ba/
-[ 0/$D

D




_.P_E\OG‘ [5- {7é COQT,

A
(e = 2(Ngp ¥ % JP/BD = 0
0

ZIZ = (~ l‘ﬁf&) L

t(Qpw) { + (239)L
- pueecton):

= &2 )

5 3

@DBD = - 1.9y %’

= [o-(0 )]

(0309 Ly~ 14A) ¢ (0 da ¢F.302) = (332) ]
02309 ofn = 44 =-2%.%

V-DIAECTION ¢ O (“(021%7 t (?5-3(2.) = §.32 +dpgo




